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QUESTION 1

Five people invested in different stocks. The chart below shows the performance of the various investments since the
beginning of the year. Calculate which investment had the greatest return. 

A. Raymond 

B. Natalie 

C. Lisa 

D. Joe 

E. Aron 

Correct Answer: E 

 

 

QUESTION 2

An army supply truck can carry 3 tons of food. A breakfast ration weighs 12 ounces, and the other two daily meals
weigh 18 ounces each. Assuming each soldier gets 3 meals per day, on a weeklong trip, how many soldiers can be
supplied by one truck? 

A. 42 

B. 125 

C. 150 

D. 285 

E. 325 

Correct Answer: D 

 

 

QUESTION 3
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The school dance committee wants to decorate the columns in the cafeteria with ribbons. One of the columns has a
diameter of 1 foot 6 inches. If you need 18 inches of ribbon for the bow, how many feet of ribbon do you need to go
around the pole, including the bow? 

A. 3 feet 

B. 4 feet 

C. 6 feet 

D. 5 feet 

E. 23 feet 

Correct Answer: A 

 

 

QUESTION 4

A local roofing company gets a 25% discount on all orders made at Roofing Etc. How much did the company pay for
roofing materials originally priced at $780.00? 

A. $195 

B. $585 

C. $634 

D. $780 

E. $975 

Correct Answer: B 

 

 

QUESTION 5

Alec worked the following hours during one week. He is paid $10.50 per hour for the first 8 hours per day and 1 1/2
times his regular pay for any hours worked over 8 in a day. How much money did Alec earn this week? 
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A. $126.00 

B. $404.25 

C. $480.63 

D. $522.38 

E. $530.25 

Correct Answer: E 

 

 

QUESTION 6

It takes 40 minutes to fly from Toledo to Cincinnati. It takes 140 minutes to fly from Cincinnati to Atlanta. How long are
the combined flights? 

A. 1 hours 

B. 2 hours 

C. 3 hours 

D. 4 hours 

E. 5 hours 

Correct Answer: C 

 

 

QUESTION 7

Preston and Emily got summer jobs at the Dairy Derby. They were both suppose to work 17 hours per week each for 8
weeks. During that time, Preston was ill for one week and Emily took her shifts. How many hours did Emily work during
the 8 weeks? 

A. 136 hours 

B. 153 hours 

C. 170 hours 

D. 187 hours 

E. 255 hours 

Correct Answer: B 
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QUESTION 8

An elevator has a maximum weight capacity of two tons. What is the greatest number of people, each weighing 170
pounds that can ride in the elevator without exceeding the maximum capacity? 

A. 10 

B. 11 

C. 12 

D. 23 

E. 24 

Correct Answer: D 

 

 

QUESTION 9

An 18-inch tall cone-shaped container with a base diameter of 1 foot is full of vegetable oil. A 10-inch tall cylindrical
container is filled from the cone. What is the minimum diameter that the cylinder must have in order to hold the
vegetable oil? 

A. about 7 inches 

B. about 9 inches 

C. about 12 inches 

D. about 18 inches 

E. about 21 inches 

Correct Answer: B 

 

 

QUESTION 10

Janette walked 6 miles in a local walkathon. How many feet did she walk? 

A. 18 feet 

B. 18 feet 

C. 5280 feet 

D. 10,560 feet 
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E. 31,680 feet 

Correct Answer: E 

 

 

QUESTION 11

A horticulture class is filling cylindrical pots with soil. The pots have a height of 8 inches and a radius of 5 inches. The
pots are being filled from a rectangular storage container measuring 2-feet by 3-feet by 3-feet high. How many of the
cylindrical containers can be filled with soil? 

A. 47 

B. 48 

C. 49 

D. 50 

E. 51 

Correct Answer: D 

 

 

QUESTION 12

A nurse is taking a patient\\'s pulse. If the patient\\'s heart beats 12 times in 15 seconds, what is the patient\\'s pulse rate
per minute? 

A. 24 

B. 30 

C. 36 

D. 48 

E. 60 

Correct Answer: D  

 

QUESTION 13

The Bakery has 10 ½ dozen donuts. They sold 2/3 of the donuts. How many donuts did they sell? 

A. 126 donuts 

B. 120 donuts 
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C. 84 donuts 

D. 48 donuts 

E. 7 donuts 

Correct Answer: C 

 

 

QUESTION 14

A recipe calls for all the liquid ingredients to be mixed together: 2-1/4 cups of water, 4-5/8 cups of chicken stock, and 1/2
cup soy sauce. How many cups of liquid are in the recipe? 

A. 6 cups 

B. 6-7/8 cups 

C. 7-1/4 cups 

D. 7-3/8 cups 

E. 7-3/4 cups 

Correct Answer: D 

 

 

QUESTION 15

A rectangular piece of land measures 870 feet by 660 feet. Approximately how many acres is this? 

A. 5.74 acres 

B. 13.18 acres 

C. 32.56 acres 

D. 57.42 acres 

E. 2751.19 acres 

Correct Answer: B 
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